MR - BB R

M /&

T7B, T6C, T6D, T6E R 7

1.
L -1.\.-._ " -
'-.__."-____‘- '-._"' W o, "'-._ e
T T
1 |
g i
B Ak LE

>

RIS S e S E T e

74+##: T7BS-B10-1R00-A1M1

- TeC-025-1R00-C1

1. EEE-B10-1R00-ATMT ..o #5915 TIBS-BIIRH0-ATM i B s 11
SAE 4 T7BS T6C T6D T6E B R
o RS 7B - - - 10 L
2. T7BSEILHRO0-ATMI ..., FASH 4. T7BS-B10-1RIFATMT .........ccoconeeeee. ity 1
B G D E 5. T7BS-B10-1 HUIO-H'I | g [ p—— o w5
BO2........5.8 | 003....... 108 |B14.... 440 |042..... 1323 6. WES-E1ﬂ-1HDD-Am1 c e Cynge vovanmene &
B03....98|005...17.2 |B17....55.0 |045.... 142.4 e
B04....128 |006...21.3 |B20....66.0 |050.. 1585 T : L _ 1
B05....15.0 |008.... 264 |B22....70.3 | 052.... 164.8 WARE: B i PR R 5
e SR 7. T7BS-B10-1RO0-AT ..o YA B
B07.....225 | 012......37.1 | B28......90.0 | 062..... 196.7
B08...24.9|014.... 460 |B31...99.2 | 066...213.3 ”'ﬂ_t AHIMREL | UNC #ReX
B10.....31.8 |017.....58.3 |B35.... 113.4 | 072..... 227.1 78 | Smt W e L -
B12....41.0 |020......63.8 | B38.. 120.6 | 085..... 269.0 ||:==L- ::' u-1
E15 ....... Eﬂ-ﬂ Uﬂﬂ.-....-?ﬂ.B B42... 13?.5 ﬂﬂs 5'1}&- - -
025.......79.3 | 045..... 145.7 F-". Mo 00
028....88.8 | 050.... 158.0 T6C [|S=1%"|P=1 LT F R
031.....100.0 T6D S=2" |P=1%" o 1 A
3. T7BS-B10§JR0O0-AIM1 ....................... HlifdjEst T0E  |S=3 YR=14" XE2X T
= - S A = =P
o | I 2 (& [ = O [F
5

2-15



MR - R AR

A 178
E 38.1
F 82.3
G| 1685
J1 | 100.000
J2| 99.967
A N| 1400
= ] 0| 1745
._I_ | | IEP' 14.0
: 1
1 TIBS | T6C
b E 38.1 38.1
: F 82.3 82.3
G| 1685| 161.6
A J1| 101.60| 101.60
- J2| 101.55| 101.55
& A - E : N| 1460| 148.0
B f"l . 3 P % 0| 1745| 1745
| | ' gP| 143 14.3
| l— I
KKK 2 —, i'an. . A\
;o S | J| E ik i
g L 2 : | | E| a81| 523
= -4 LI ' F 87.4| 110.0
[ : @a| 1849] 2253
- 3 J1| 127.00| 127.00
' Ei J2| 126.95| 126.95
N| 181.0] 181.0
0| 2124| 2130
=T i l@p| 175] 175
Byl BCHISE (N.m) | 24 R~ (mm) |
_| T7B |T7BS| T6C | T6D TI!E_L L1 L2 HE K1 x K2 H1 M1 J
F4it: SAE B (@22) ® | 275 71.4 381 | 22225-22200| 6.35x6.30 | 2495 | MBx16
1 | ‘F8l: SAE C (@31) . 83.6 493 | 31.750-31.700 | 7.94x7.89 | 3527 | M10x20
| | P SAE CC (238) . 90.9 50.8 | 38.100-38.050 | 9.52x9.47 | 4236 | M10x20
‘4t Ik SAE (@22) 238 58.2 317 | 22225-22200| 4.76x4.71 | 2453
2 E4E: 1ISO R775 (@25) . 70.0 40.0 |24.9935-25.0065| B.00x7.00 | 2822
T4 4 SAE (231) 577 73.2 38.1 |31.750-31.700 | 7.94x7.89 | 3527
T4 4 SAE (@31) 577 | 618 38.1 |31.750-31.700 | 7.94x7.89 | 3527
- {Et: SAE B e | 343 40.7 24.5 SAE J498b 1 &, 277 16/32, 13 F
{E8: SAE C . . 55.2 38.0 SAE J498b 1 £, 347 12/24, 14 F -
1kt SAE BB . . 45.5 24.5 SAE J498b 1 &, 77 16/32, 15
4 | {cq: 4k SAE ™ 77.7 48.0 SAE J498b 1 &, 217 12/24, 14 F -
L {:Hl: SAE CC . 62.2 31.5 SAE J49Bb 1 &5, 215 12/24, 17 F
. | B2 R (mm)
& | A1 e B @c1 D1 T1 CIHREL
e | B
- S 1 %" 35.8 70.0 38.1 76.2 %"-13UNC x 22.4
B " | wr | s 554 25.4 762 M10x 190
S 1 %" 35.8 70.0 38.1 76.2 M12 x 22.4
Tec P 1" 26.2 52.4 25.4 76.2 *s"=16UNC x 19.0
S 1 1" 35.8 70.0 38.1 76.2 %"-13UNC x 22.4
T6D P 1%" 30.2 58.7 31.8 82.6 116™~14UNC x 22.3
S 2" 42.9 77.8 50.8 82.6 1%"-13UNC x 23.9
— P 1 1" 35.7 69.8 37.1 98.6 % -13UNC x 23.4
S 3 61.9 106.4 75.0 98.6 *fa"-11UNC x 24.0

2-16



